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General Instructions ;
Read the following instructions very carefully and strictly follow them :
(1)  This question paper comprises 39 questions. All questions are compulsory.
(i) This question paper is divided into FIVE sections viz. Section A, B, C, D
and E.

(i) In Section A - question number 1 to 20 are Multiple Choice Questions
(MCQs) carrying 1 mark each.

(iv) In Section B - question number 21 to 26 are Very Short Answer (VSA)
type questions carrying 2 marks each. Answer to these questions should
be in the range of 30 to 50 words.

(v) In Section C - question number 27 to 38 are Short Answer (SA) type
questions carrying 3 marks each. Answer to these questions should be in
the range of 50 to 80 words.

(vi) In Section D - question number 34 to 36 are Long Answer (LA) type
questions carrying 5 marks each. Answer to these questions should be in
the range of 80 to 120 words.

(vii) In Section E - question number 37 to 39 are of 3 source-based/case-based .
units of assessment carrying 4 marks each with sub-parts.

(viii) There is no overall choice. However, an internal choice has been provided
in some Sections. Only one of the alternatives has to be attempted in such

questions.

2131/2/1 3 P.T.O.
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(A) Cu0 B) ALO,
(C) Na,0 M) K,0

5. Trafafea vl v fer ik 1
(8) CaSO,+Al——> (b) CuSO4+ Ca——u-—y
© FeSO,+Cu—m (d) ZnSO, + Mg ——y
TH B 98 W 19 @ & Rl e weref & 0
(4) (a) 3R (b) B) ()3 (o)
© (o) ¥R (d) D) () 3k (d)
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SECTION - A (20 x 1 =20)

Select and write one most appropriate option out of the four
options given for each of the questions 1 to 20.

1. Solid Calcium oxide reacts vigorously with water to form Calcium
hydroxide accompanied by the liberation of heat. From the information

given above it may be concluded that this reaction 1
(A) is endothermic and pH of the solution formed is more than 7.

(B) is exothermic and pH of the solution formed is 7.

(C) is endothermic and pH of the solution formed 1s 7.

D) 1is exothermic and pH of the solution formed is more than 7.

9 Juice of tamarind turns blue litmus to red. It is because of the presence of

an acid called : 1
(A) methanoic acid (B) acetic acid
«C) tartaric acid (D) oxalic acid
3. 'Select from the following a process in which a combination reaction is
involved : 1
“(A) Black and White photography (B) Burning of coal
(C) Burning of methane (D) Digestion of food
4. The oxide which can react with HC! as well as KOH to give corresponding
salt and water is 1
(A) Cu0 "(B) Al,O,
(C) Na,0 O K0
5. Consider the follf:wing cases : 1
(a) CaSO,+Al——— ‘() CuSO, + Ca—-——
() FeSO,+Cu——> *(d) ZnSO,+Mg——
The cases in which new products will form are —
(4) (a) and (b) (B) (b) and (¢)
© ©and@ D) (b) and (@)

2131/211 5 P.T.O.
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8. Identify the correct statement about the following reaction :

(A)
(B)
9

()
(D)

ZHy8 + 80, — 2H,0 + S
H,S is oxidising agent and SO, is reducing agent.
H,S is reduced to sulphur.
S0, is oxidiging agent and H,S is reducing agent.

S0, is oxidised to sulphur.

7. Consider the following statements about homologous series of carbon

compounds :

(a)
(b)

(c)

CY

All succeeding members differ by ~ CH, unit.

Melting point and boiling point increases with increasing molecular
mass.

The difference in molecular masses between two successive members
18 16 u.

C,H, and C,H, are NOT the successive members of alkyne series.

The correct statements are —

(A)
(©)

(a)
*(b)
()

(d)

(A)
‘)

2131/211

(a) and (b) (B) (b)and (c)
(a) and (c) D) (c) and (d)

Which of the following statement(s) is (are) Q_u_e about human heart ? 1

Right atrium receives oxygenated blood from lungs through
pulmonary artery.

Left atrium transfers oxygenated blood to left ventricle which sends
it to various parts of the body.

Right atrium receives deoxygenated blood through vena cava from
upper and lower body.

Left atrium transfers oxygenated blood to aorta which sends it to
different parts of the body. |

(a) . ' (B) (a)and (d)
(k) and (c) (D) (b) and (d)
' 7 - P.T.O.
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9. Select out of the following a ¢land which does NOT oceur 28 a pair in the

human body : 1
«A) Pituitary (B) Ovary
(C) Testis D) Adrenal

10. I? human’reapiramry 8ystem, when a person breathes in, the position of
ribs and diaphragm will be - 1

(A) lifted ribs and curve/dome shaped diaphragm.
t(B) lifted ribs and flattened diaphragm.

(C) relaxed ribs and flattened diaphragm.

(D) relaxed ribs and curve/dome shaped diaphragm.

11. Identify the mode of asexual reproduction in the following organism : 1

(A) Fragmentation (B) Multiple fizsion
((0)) Budding (D) Binary fission
12. A cross made between two pea plants produces 50% tall and 50% short
pea plants. The gene combination of the parental pea plants must be 1
(A) Ttand Tt (B) TT and Tt
+(C) Ttandtt (D) TT and tt
13. Consider the following statements in the context of human eye : 1

(a) The diameter of the eye ball is about 2.3 cm.
“(b) Irisis a dark muscular diaphragm that controls the size of the pupil.
ﬂ(c) Most of the refraction for the light rays entering the eve occurs at the

crystalline lens.
(d) While focusing on the objects at different distances the distance
between the crystalline lens and the retina is adjusted by ciliary

muscles.
The correct statements are —
(A) (a) and (b) (B) (a}, (b) and (c;
*(C) (b), (c) and (d) (D) (a),(c)and (d)

2131/2/1 9 P.T.0.
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14. The maximum regiq
#1stance of a network of five identical resistors oftl:‘ Q

each can he - )
‘ () 180 B 05Q

C) 0.250Q i

(© 025 D 016

. ot ¥ '
16. Study the I-V graph for three resistors of resistances R,. R, and R, and
select the correct statement from the following :

A R1
[
(ampere)
V (volts)
(A) RIZR.J-‘-RR (B) R’!.}R‘Z}RB
“C) R,>R,>R, (D) R,>R,>R,

16. Strength of magnetic field produced by a current carrying solenoid DQES
NOT depend upon : 1

(A) number of turns in the solenoid

(B) direction of the current flowing through it
%C) radius of solenoid

(D) material of core of the solenoid

Q. Nos. 17 to 20 are Assertion - Reason based questions :

These questions consist of two statements — Assertion (A) and Reason (R).
Answer these guestions selecting the appropriate option given below :

A (A) Both (A) and (R) are true and (R) 18 the correct explanation of (4).
\A(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
©(C) (A)is true, but (R) is false.

< (D) (A)is false, but (R) is true.

2131/2/1 11 P.T.O.



17,

18,

19.

20.

21.

22,
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2131/2/1 12



18.

19.

20.

21.

22,

Reason (R) : Extractjop
the reactivity Series

Assertion (A) ;
(A) : Humap female hag a perfect pair of sex chromosome.

Reason (R) : Sex chromgg
Ome 1 .
zygote decides the gex of a ch(?i{l)(;l fributed by the human male in the

Assertion (A) : Myopic €¥e cannot see distant objects distinctly.

Reason (R). : For the correction of myopia converging lenses of
appropriate power are prescribed by eye-surgeons.

Assertmn' 4) The deflection of a compass needle placed near a current
carryl_ng .w1're decreases when the magnitude of an electric current in
the wire is increased. https.//www.cbseboardonline.com

Reason (R) : Strength of the magnetic field at a point due to a current

carrying conductor increases on increasing the current in the
conductor.

SECTION-B
Q. Nos. 21 to 26 are very short answer questions.

(a) “No precipitation reaction can occur without exchange of ions
between the two reactants.” Justify this statement giving a balanced
chemical equation for the reaction.

OR

 (b) Giving one example of each, differentiate between a displacement

reaction and a double displacement reaction.

Photosynthesis takes place in the leaves and the food prepared by it
reaches other parts of the plants. Name the process involved and explain

it.

2
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23.

25.

26.

27.

28.

21317211 15 P.T.O.

“Stability of DNA in

8 q : . ) .
Justify the statemen; Pecies is engyred during sexual reproduction.

(a) State two laws of refraction f light

OR
(b) Define the term absolute refy
enters fr '

Om vacuum tq
speed of light in glags

active index of a medium. A ray of light
81233 of absolute refractive index 1.5. Find the
The speed of light in vacuum is 3 x 108 m/s.

Use Ohm's law to determine

. . the potential difference across the 3 Q
resistor 1n the circuit showp in t

he following diagram when key 18 closed :

K 2V 10
+1, -
T —F AN
MWW AAAA,
20 3Q

Name the term used for the materials which cannot be broken down by

biological processes. Give two ways by which they harm various
components of an ecosystem.

SECTION-C
Q. Nos. 27 to 33 are short answer questions.

It is observed that Calcium on reaction with water floats on its surface.
Explain why it happens. Also write a balanced chemical equation for the
reaction that occurs. What happens when the aqueous solution of the
product of this reaction reacts with Carbon dioxide gas ? Write a balanced

chemical equation for the reaction.

Draw a labelled diagram to show electrolytic refining of copper. State
what happens when electric current is passed through the electrolyte

taken in this case.

3
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30. ugaTiRaT § YRV & Waw e & mf (Y1) w1 7o 2N aed wemait Y Sremn Hifv |
MYRY A F TG D=2 iy 1 e Hife |
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JY

(b) FEW ¥ FHEIY T < F forg fovrw amtw wifie | 3w i@ w sifa Hifv
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29.

30.

31.

32.

33.

() Give reasons for 1}, following

®  Alveoli in lungs g o

(ii) Respiratory .
carbon di{gidifgment In the blood takes up oxygen and not

ly supplied with blood capillaries.

(i) During anaerobic respiration, a 3-

an end product inggeqq of CO, in hcarbon molecule is formed as

uman beings.

OR

" (1) Na
®) @ digIeI;:i\Ehe Movements that occiir all along the gut in human
) e 8ystem, How do they help in digestion ?
(11) Where 18 bﬂe jUice Stﬂre d m hu

. . -f? b »
juice. man body ? List two roles of bile

Explain the events that take

. place once a sperm reaches the oviduct till it
becomes a foetus. Write the r

ole of placenta in pregnancy.

(a)__ Define the term power of accommodation of human eye. Write the
name of the_ part of eye which plays a major role in the process of
a:ccommodatmn and explain what happens when human eye focuses
(i) nearby objects and (ii) distant objects.

OR

(b) Draw a ray diagram to show the formation of a rainbow in the sky.

. On thlS diagram mark A — where dispersion of light occurs, B —

' where internal reflection of light occurs and C — where refraction of
light occurs. List two necessary conditions to observe a rainbow.

Draw a diagram to show the pattern of magnetic field lines on a
horizontal sheet of paper due to a straight conductor passing through its
centre and carrying current vertically upwards. Mark on it (i) the
direction of current in the conductor and (ii) the corresponding magnetic
field lines. State right hand thumb rule and check whether the directions
marked by you are in accordance with this rule or not.

Use of pesticides to protect our crops affect organisms at various trophic
levels especially human beings. Name the phenomenon involved and

explain how does it happen.

3
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W w34 ® 36 e Iy € )

34. (a)

34. ()

35. (a)

35. (b)

2131/211

®

(11)

(1)

Y

(i)

(1)
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Q. Nos. 34to 36 are long

a4 @

34. (b)
35. (a)
35. (b)

213121

®

(ii)

(i21)

(i)

(1)

(i)

(iii)

()

SECTION . p

; answer questions.
1ve reason why, carhon

anions but form Covalent
What is homologous se
molecular formul of

can neither form C4%* cations nor C*+

ries of carbon compound ? Write the

) any two consecutive members of
homologous serieg of aldehydes

Draw th
W the structure of g, molecule of cyclohexane (CH,,).

. OR
fuit:f aa1 commercially important carbon compound having
iy ion 8:1‘01113 ~OH and write its molecular formula.

rite chemical equation to show its reaction with
(1) Sodium meta]
(2) Excess cone, sulphuric acid
(3) Ethanoic acid in the presence of an acid catalyst
(4) Acidified potassium dichromate

Also write the name of the product formed in each case.

Distinguish between hormonal co-ordination in plants and
animals. https://www.cbseboardonline.com

Which part of the brain is responsible for —
(1) intelligence
(2) riding a bicycle
(8) vomiting
(4) controlling hunger
How 1is brain and spinal-cord protected against mechanical
injuries ? :

OR
What are tropic movements ? Give an example of a plant
hormone which (1) inhibits growth and (2) promotes cell
division. ‘
Explain directional movement of a tendril in pea plant in
response to touch. Name the hormone responsible for this

movement.
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36. (a)

(b)

Rl 3o o H S M FR SR A g X | e dw A 2F R g W
R fef few & sRfi wm ol & R fro g dfffie | o @
shiftrs 6 Rt 3ik R = 3w B | 2R S A FR = B w3
Ty D wfra § s frard 233 @ o w1 Ieo Ffe | am IR A R F
fore o &g

TR B meHE 0 F R smme T F REFE A0 m P R
R R | 8- F T wh vl 6t o ¥yl 3 & g o Fif |

W WA 37 | 39 & i/ v it e §, f 2 @ 3 g av-vm ¥ | v
A I9-97 3§ sl v wem Rear | |

37. wau $ TR &R e ¥ ot wEau Wb B @ | wifeaw Fss e amamm
THF FEA &, B IW e aef) WWEEd ® Aa 2 | afe g oft o o # 2 e
39 WA =) Mo TR F grr-wy qfEn e § off fEa swr } | q9ut e s
378 J9fR oAl 3R g & SRR R e R |

(a)

(b)

(c)

(©)

2131/2/1

39 30 31N I HRE $ 9FEE Hioe Faa e Sifeas e T |
Fiam gee o Iufera s 3 uaraA 3 Hifve |

“ghfeam FevEe ik G W A @ & TRET & E ¢ 5w wen B
E il

HYqr

pH et & qftsmar fSe | IR Tgiams ot aeagie It Y sifvfrn |
T4 I G F1 T AY1 39 90 & ety faemq 1 pH ae fufau
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37.

2131/2/1

(b)

diagram to 3
o . ;0“’ the formation of tmage of an object placed at a
istance o
N ; from such  leng Mention the position and nature of
e image
B¢ lormed. State the observable difference in the image

ohtained if t i -
he lens ig Uncovered. Give reason to justify your answer.

An object is placed at g distance of 30 cm from the optical centre of a
concave lens of focal length 15 ¢m. Use lens formula to determine the

distance of the image from the optical centre of the lens.

SECTION - E

Q. Nos. 37 to 39 are case based / data based questions with 2 to 3
short sub-parts. Internal choice is provided in one of these
sub-parts.

Salts play a very important role in our daily life. Sodium chloride which is
known as common salt is used almost in every kitchen. Baking soda is
also a salt used in faster cooking as well as in baking industry. The family

of salts is classified on the basis of cations and anions present in them.

(a)
(b)
(©

(c)

Identify the acid and base from which Sodium chloride is formed.

Find the cation and the anion present in Calcium sulphate.

“Sodium chloride and washing soda both belong to the same family of
salts.” Justify this statement.
OR

Define the term pH scale. Name the salt obtained by the reaction of
Potassium hydroxide and Sulphuric acid and give the pH value of its

aqueous solution.
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38, ST S g Hate Ieat et i wepe e S o i gt go T a1 TR
frafefag fatt gro B @ - Raved, qoed, Guew, s aaEd a1 TeeHE
(Grt) | 5t sk e forer 3 < ‘A’ Afiver: d s F - L, M 3R N %2
T @ e e ‘B’ Featta: Q) Wil - O I P Awe T R | 4

A
/ °

Aaa N
\J \J w ’

B
(a) Faﬁhﬂ#ﬁmﬁ%aﬁqémwmﬁmﬁmaﬁ@mmﬁﬁwm

[ 3
L ]

o ? 1
b) wHiE i @ vt 57 F gur G $ wAn T s dE w1 seE
@ | 1
() TR “Rem" sreraEd? - - 9
YT

(c) TESHE 3R GUeH ¥ T fave FINT |

39. i fpet fagrg w9 A witiyss wiwy & forge m wanfea 2l 2, ot g sof pi =w @
Fufig ot § qiafda & ot @ | 98w wn § T ufwy d som e wmn (H)
@) w0 & o (1) ¥, (i) ToF F 90T R) F a7 (1) Tors 3 Frer g 9% u
gaTfRd BN 2 99 W (t) F APFAI Bt ¥ | R ey §, H = 2Rt | Ay giwl 9@
forge g, g e, g vt 3R, A nf g e 5 et o w1
(a) YA TG ot o fARrenaT e TR |
(b) ferera v i & ferswanett i gt & |
() 35 fram & am g fve w1 foge v #1 #t@ 2 | =wen Sif i g
W H1 R 6T TR R 39 B Tt I faega oo ¥ g aftel =t
g R TR A e gaT g |
T
(c) Toreht forga der <t wifdr 1100 W 2 | 3fé 38 €1 % QM1 it < ot fovramm 220 V
2, & oftay @ yarfeq a0 {@ Hifg | 39 whey § SRk 5 A sTgEds & fem
RIS ST T &I 2
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on, Spore formation and Regeneration. In
on, Planaria A is cut horizontally into

halves — O and P, and Planaria B is cut vertically into two equal

()
(b)
(c)

©
39.

A

/ 0
N

z =

-
il

v

A
Which of the cut pieces of th
a complete organism ?
Give an example of anothe
of reproduction as Planaria.

What is the meaning of ‘development’ in regeneration ?
. OR
Differentiate between regeneration and fragmentation.

o 5

e two Planaria could regenerate to form

r organism which follows the same mode

When electric current flows in a purely resistive circuit electrical energy

gets fully converted into heat energy. The amount of heat produced (H) in
the circuit is found to be directly proportional to (@) the square of current
(19 (ii) the resistance (R) of the conductor and (iii) the time (t) for which
current flows. In other words H = I?Rt. Electrical devices such an electric

fuse, electric heater, electric iron etc. are all based on this effect called
heating effect of electric current.

(a)
(b)
(c)

(c)

2181/911

List two properties of heating elements.
List two properties of electric fuse.
Name the principle on which an electric fuse works. Explain how a
fuse wire is capable of saving electrical appliances from getting
damaged due to accidently produced high currents.

OR
The power of an electric heater is 1100 W. If the potential difference
between the two terminals of the heater is 220 V, find the current
flowing in the circuit. What will happen to an electric fuse of rating
5 A connected in this circuit ?
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